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Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.

fed s /=2t Foraies o woer - v 1 Btget, 3173 gl woe -0 a1 et sveran siirsfi o s fomn snawan 21

Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi or
English language.

st it s 3 Fautia wredt 41 dim & sifiss 72 feramn = o Sooim #0037 F12 Snin | e I A
ATl % FHe gl ford | areft s v A ford |

The candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be
deducted. Candidates should write the answers within the given lines. Please do not write in the blank space.

e W o 3t geA T e i feffa wom wd fowd | werar it (v w5 & g afed ) % sfa e i w s,
ST ATH, 3 FI1E ATH, G 1 H FE U (e sifha | 30 g & @y 3 i qrfl dem w5 i afia 21
el o1 Ieciae 0 W A F 1S Aied & fam g ufiear fa A snaw)

Please write answers only in the prescribed space of booklet. Do not make any mark of identity inside the booklet
(including rough paper page) like roll number, name, any other name, address or such other mark. Do not enclose

anything with the answer booklet. The candidature of candidates violating these instructions would be cancelled
without even giving them any other notices.

speafefai =t Fadfima foren e 2 o wodem fees 8 gede g2 4 5 71 ATt A | ATe ae e ford | AT eTda ¥ aen
[SlERRESEIRMEEEIEIE G

Candidates are directed that they should not write (answer) outside the border line in every page. Answer written
outside the border line will not be checked by the Examiner.

afe feft wro 8 et e o a1 g sTenan b o1 72 21 A e o fet e s w3 # e wara A Em)
If there is any sort of ambiguity/mistake either of printing or.of factual nature then out of Hindi and English version
of the question, the Hindi version will be treated as standard.

syegeff =i weA gfea Hieeae ver FE )

The Question-Answer Booklet is provided in a sealed to the candidate.

sreyeff weAra e & S HerE 39 31 U, AR, T Toas ifod faam i /#e are 16 | saigE ot e w

I7 3. UH. AT T el ° e - Ae] e e ofl e afomrea A€ )
Candidate should fill up all desired details on this attached OMR Sheet of Question-Answer Booklet with
Blue/Black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.

7% 371U 3R 9 31 s 6 e @, S e faua geend g fia # | s A gfd saeefiw w2
This OMR Sheet consists of two parts in which some information is pre-printed; remaining details have to be
filled by the candidates.

afe et g FE 8 FA =T W A R, T dehTel e F A A o 3 a1 39 SEe o, 1 36 A e
g

If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator and get
changed the Question-Answer Booklet, otherwise the candidate will be liable for that.

Farorer e : avereff groafs 3. un. 3. s wTerd e sl s @ 2 39 fore wer ot afa T St 2 sy g A adien
g srefifan focea i sat sfise forg srereff e seerft @)

Special Note : If there is any wrong information filled by the candidate then his candidature for the entire examination
shall be rejected by the commission, for which he himself will be liable.

(A)

SPECIAL INSTRUCTION
oo o

We-u3 AR @ T A w | faafE @ | s F v 01 6 15 sfaeraia 3v-wE # | @ w % v w02
18 T 397 & 5l & ol 15 Wod] o 33 R Ao e T 1 v i 39 4 58 w28 0 nifa 9 @ e E | 9w
YA % THe 365 Ui sifra R E |

The question paper is divided into three Sections ‘A", 'B' and 'C'. There are 15 very short type sub-questions in
question no. 01 of Section A. In question no. 02 of Section 'B' there are 18 short type sub-questions, out of which 15
questions have to be answered and in Section 'C' question no. 3 and 4 based on case study have been asked. The
maximum marks are printed in front of each question.
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M-2019/GS-IV/05
SECTION - A/ @US — H E
U : 1. $E I H 15 AfaeTiiE 30w §, e v w5 3w sAluean 20 v 1§ 5 2 | At v e § | ueeE v 03 (i) s | (15x3=45)
Que.: 1. This question contains 15 very short type sub-questions. Answer each question in maximum 20 words. All questions are compulsory.
Each question carries 03 (three) marks.

T9: (1.1)  IEA H gl o Heed o1 Fard | et
State the importance of values in Governance.
3l _ =
T
= = qM=03
T (1.2) qdeE & @ gaE 6 fafimed guzm |
Discuss peculiarity of ‘Swantah Sukhay’ of Tulasidas.
3l : TeTE
q/M=03
T (1.3) WA H YRER T 3FHI T dTcl T9@ T & 9 ford |
Name major institution to curb corruption in India.
I : ) T
qM=03
UH: (1.4) T U 3991 & gray ° MEfs & fa=m sard |
Describe Gandhian thought regarding Truth and God.
3l T
qM=03
U (1.5) UNERiaT e 7
What is transparency ?
Il : W




[=]i[s]

MR SECTION - A/ @UE — A EF A

T : 1. 38 T H 15 AT 30-TE , Welieh 99 5 39 sifeshan 20 YeE A 5 | At v aifer § | uedes v 03 () s R (15x3=45)
Que.: 1. This question contains 15 very short type sub-questions. Answer each question in maximum 20 words. All questions are compulsory.
Each question carries 03 (three) marks

T¥H: (1.6) S HagEr Brer fhe e E 7 IM=03

What is ‘Triratna’ as per Jainism ?

34l :

qM=03

TH: (1.7) 3299 e gfedanivl & wiet o foam |y |

Discuss ideas of Plato from teleological stand point.

3l

q/M=03

U: (1.8) HaTrae =R T 3719 991 G0 & 7
What do you mean by non-verbal communication ?

I .. - B UTATF

= . . e q/M=03

g : (1.9) T e & gy 1 @it ggE= guadt i sEymen ausnEd |
Discuss thoughts of Swami Dayanand Saraswati about Western Education.

I ] AT

IM=03
T9: (1.10) Afce Arieyia fFd Fed & 7

What is ethical guidance ?
Il ; § 3 Tt




M-2019/GS-IV/07 [=]
SECTION - A/ @UE - 31 )

9 : 1. 38 TEH 15 S I9-WH €, Uedeh T 1 3w SAThan 20 Teel 1 o 8 | @l v st € | weie ue 03 (F) s g | (15x3=45)
Que.: 1. This question contains 15 very short type sub-questions. Answer each question in maximum 20 words. All questions are compulsory.
Each question carries 03 (three) marks.

T (1.11) AU UrEfyar & an 5 ford |

Write about Transparency International.

q/M=03

3 :

q/M=03

v (1.12) Tafaet dae =l T i |rafie gie & smami it s =nfee ?

What three dimensions of emotional intelligence that a civil servant should learn ?

9H: (1.13) STeaal o 39N o feid |

Write the tools of accountability.

I :

T (1.14) HEHT 8 % FAFER T Tageda 1 qusngd |

Discuss Pratityasamutpada according to Mahatma Buddha.

3L ;

T (1.15) M ST TS o AR ATHHR Ud Fded quEy |
Discuss Rights and Duties as per Deen Dayal Upadhyay.




M-2019/GS-IV/08
SECTION - B/ @US - o

o : 2, Freferfaa 3 @ Tl 15 w1 % 3w stitean 150 et § ferflan) wedres v 6 (1) 37l &1 2)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

[m]ii[m]

Ct; =

(15%6=90)

TH: (2.1) Wl fTewH= e e s S @ 7
Why Swami Vivekanand is known for ?
Il - o o o -

q/M=06




M-2019/GS-1V/09 [w]
SECTION - B/@US - &

we : 2. frfafaa 1 3 feei 15 vl & 33 sifisan 150 =21 4 fofiae| weres v 6 (B:) 371 1 2 (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

U9 : (2.1) continued (STH)




M-2019/GS-IV/10
SECTION - B/ @UE - &

7w« 2. Freferfiaa § & Feedf 15 wwi % 3o stfasan 150 weei 6 Toifiau| wees v 6 (B:) o7 1 21
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

uH: (2.2) faocscisr guan o, 2015 1 uge a1 ga WraeHi 1 auid i |
Elaborate the significance and basic provisions of Whistleblower Protection Bill, 2015.




M-2019/GS-IV/11
SECTION - B/@UE - &

v : 2. Ffafas § 4 faef 15 wvai 5 3 sifieran 150 et 1 foflan) o v 6 (B:) si=i F 2
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

79 : (2.2) continued ()

T




M-2019/GS-IV/12
SECTION- B/@UE - &

v : 2. Frefefes 1§ 4 fa 15 w1 % 3w wiftram 150 vl 6 fafaw)| e w1 6 (B:) =il =1 2

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

[=]=[s]
[=]

(15x6=90)

TH: (2.3) TSI THHTEA TF 1 GH1S o folu 1 aneE 2 7
What is the contribution of Raja Rammohan Roy to the Society ?

9 /M=06




M-2019/GS-IV/13
SECTION - B/ @UE - &

v : 2. Frafafas | @ i 15 w31 % 3w sifisman 150 w=a1 § foafan) weress v 6 (B:) i %1 2

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

Op0
O

(15x6=90)

9% : (2.3) continued (FH)




M-2019/GS-IV/14

SECTION- B/@Us - &

wo ; 2. Friferfiaa # @ Fonedt 15 w1 % 3w stfteran 150 weai 0 forfay| wees v 6 (:) o= #1 8|
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

TH: (2.4) T § AfereR Tged % T IO R0 8 @ 7
What are the basic attributes of ethical leadership in Administration ?
3l ; =

9 M=06




M-2019/GS-IV/15
SECTION - B/@UE - &

v : 2. Frafefaa 1 & i 15 wwi & 3w sifieran 150 a1 # forfae | weles we 6 (B:) i &1 2
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

EiE
Eh

(15%6=90)

[97 : (2.4) continued (SRT)

-15-



M-2019/GS-IV/16
SECTION - B/ @US - §

we : 2. Fr=fafiaa o @ feeedi 15 vl & 3 stfieran 150 w2l # forfae | weies v 6 (B:) 31 =1 21
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

TH: (2.5) fafae ae & foru sai 3 & ufa afewpar i gae #i qeaqu & 7
Why is having tolerance and compassion towards the weaker section important for a Civil Servant ?
341 : o o o - I - o - -

9 /M=06




M-2019/GS-IV17

SECTION- B/@US - 9

ww ;2. Freafefiaa # @ faedi 15 w1 & 3w srfisham 150 ws2 6 fafaw| weds 9w 6 (B:) 37 1 2
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

[=] £ =]
=]

(15x6=90)

¥4 : (2.5) continued ()




.,I.EI {0
M-2019/GS-IV/18 . O

wod : 2. fr=fafaa § @ feedi 15 wwi 3 3w siftrraq 150 wea1 § Torfaw| wedes vw 6 (B:) o #4121 (15x6=90)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
T 3 N q/M=06
TUH: (2.6) ‘T 1 IMET YIITHA &l UF AE¥IH 30 2 | G0y |
‘Rule of Law’ is an essential component of good Governance. Explain.
3 i = e e = = A e oo = — _ R . SIEGLE S
i ‘8,




M-2019/GS-IV/19

SECTION- B/@US - 9

v : 2. Frefafea | @ =i 15 71 & 3w afuwan 150 et 8 forfau) o= v 6 (B:) 7= #1 2
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

99 : (2.6) continued (71)

-10-



M-2019/GS-IV/20 E
SECTION- B/@UsE - 9
w4 : 2. Frafafas 4 4 fadf 15 vt 3 3wt sifirram 150 v=2i 4 fefian) wetes v 6 (B:) o0 %1 81 (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
5 5 . e & . = 9 /M=06
A (2.7) EdA g YN  $foe § 21, IR, TSEH i HANEE ¢ 7
What is the contribution of Dr. B. R. Ambedkar in the history of free modern India ?
3l - o S - UTATF

-20-




M-2019/GS-1V/21 E'L
SECTION- B/@Us — F

v ; 2. frfafaa # 4 faedi 15 w1 % 3w sifisran 150 v=ei § fafan)| wees v 6 (B:) =1 1 21 (15x6=90)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

9% : (2.7) continued (ST1)

-21-



M-2019/GS-1V/22
SECTION- B/ @S - &

we ; 2. Fraferfias # @ feedi 15 woat 3 3o sifirman 150 w2t 6 foflan)| et ww 6 (B:) =i 1 21
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

UH: (2.8) 3UR A1, IUR A1 a9 Fsf =R & ey ° S sréfaes gan (=) Fam @ 7
What are the Central Civil Service (Conduct) Rule related to lending, borrowing and private trade ?

9 M=06

-22-
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M-2019/GS-1V/23 U W——— [=] gyt
(15x6=90)

W ; 2. faafafaa 4 @ et 15 vai & 3 sifieran 150 veel A fafau) v uw 6 (B:) s #12)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

794 : (2.8) continued (SH)
-23-
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M-2019/GS-1V/24 @ﬁ:‘g
SECTION- B/@UE - & "

v : 2. Frafefas o @ feedi 15 woai & 3w sfisan 150 wsei 6 forfige | wedres w1 6 (B:) @i &1 21
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

TH: (2.9)  WEHER RIS I q g Sonel! & 3Ee e a1y | MRd § YR U9 8 T e i g S |
Define corruption and its relation with value system. Enlist legal framework to fight against corruption in India.
34l : _ - S S

9 /M=06




M-2019/GS-IV/25
SECTION - B/@US - &

EE
=

v ; 2. Trfafaa 1 3 feeedi 15 w1 % I sifisran 150 ve2i 3 fafan| wees v 6 (B:) s #7121 (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
9% : (2.9) continued (SH1)

-25-




M-2019/GS-IV/26
SECTION - B/@US - &

A : 2. Feferfaa o @ feaedi 15 vt % 3w siiesran 150 veei 0 fofau | weires wea 6 (1) 35kt #1 2|
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

T9H: (2.10) FHifeed F FATHR U TSI o F1-F1 hded 2l & ¢

What are the duties of a King according to Kautilya ?

9 /M=06

-2B-




M-2019/GS-IV/27
SECTION- B/@Us - 9
v : 2. foefafaa § @ T 15 vl & 30 sifiam 150 w21 7 forfan| s wwa 6 (@:) @il F1 2) (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
994 : (2.10) continued (STHT)
-27-



M-2019/GS-1V/28
SECTION - B/@UE - @

uw ; 2. fFefefiaa § @ fedi 15 vt & 3ot siferan 150 Teei 1 fofEu) e w6 (9:) 371 1 21
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

[=] 54 [w]

[=]

s

(15x6=90)

| = " .
| UH: (2.11) AR & Fam Fi f&ftei wh-di @ ?
| What are the methods of removing prejudice ?

3 : 7 - - B - - -

qM=06

-28-




M-2019/GS-IV/29
SECTION - B/ @UE - &

v : 2. Fafofas 3 & fondi 15 weai & 3w srfasan 150 v 1 forfiau) wedes w1 6 (B:) =i %71 21

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

994 : (2.11) continued (STHT)

-20-
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M-2019/GS-1V/30 OPFE:T
SECTION- B/@UsS - 9 LA

A ; 2. Tafafaa # @ fa=di 15 woai & 3w siftsran 150 w2t 0 fofaw) wees v 6 (B:) 301 =1 2| (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

. e 2t . = qM=06
T (2.12) 29 o 3faem § 21 TUTEOE F F aEE 2 7

What is the contribution of Dr. Radhakrishnan in the history of Philosophy ?
Jal:_ - I T

30




M-2019/GS-1V/31

SECTION - B/@US - &
WA : 2. Frafefaa § 3 el 15 w1 % 3o stfasram 150 wsei # forfigu | weies wo 6 (B:) st 1 21

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

97 : (2.12) continued (JTt)

B - S

TN TR

A



M-2019/GS-IV/32
SECTION - B/@UE — &
uw : 2. f=ferfias 5 & foredi 15 vt % 3w sifteram 150 vr=ei A forfiau) s w1 6 (B:) s 1 2

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

[m]ici[s]

.
E'ﬁ

|

|

(15x6=90) '

W¥: (2.13) HTENTH fg il TRON I T2 FH |

Clarify the concept of Emotional Intelligence.

3L

qM=06

-32-




M-2019/GS-1V/33

A : 2. fFr=feriaa 4 @ fadi 15 wwi o 3w stferman 150 weei # ferfia) wedtes ww 6 (©:) il %1 2

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

SECTION- B/@US - @

=]t [s]
=

(15x6=90)

77 : (2.13) continued (SHT)

33



M-2019/GS-IV/34 ﬁ
SECTION- B/@UE - @ e

s : 2. Frafafaa 3 3 faedi 15 vt & 3w etfisran 150 yeei 0 forfae | uedes wva 6 (B:) 31 1 21 (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

T M=06
T9: (2.14) THENG 99T & I 1 e YHF 2 7

What is the ideal role of ruler according to ‘Ramcharit Manas’ ?
| \

3l

BUSIED

|
|
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M-2019/GS-IV/35 SECTION - B/ @S - & (=]

v : 2. Frefafiaa @ @ faedt 15 w1 & I srfishan 150 e 1 forfian | weles 9w 6 (W:) 37t &1 2 (15%6=90)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

T : (2.14) continued (STTY)

Bl —— e . o wam o T -
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M-2019/GS-IV/36

SECTION- B/@US - & E 'g.
we ; 2. Frmferfia o @ fenedi 15 wwi % 3w siftraw 150 wedi # foflae) weies ww7 6 (B:) sii #1 2) (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

9 /M=06
Uv: (2.15) SAfemar s s gfga Fa a2 ? |
How aptitude is different from interest and intelligence ?
3l : AT

-36-

!
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M-2019/GS-IV/37

v : 2. Frafafaa @ & fedt 15 vl o 3 s1firran 150 weei # forfiau | weires o 6 (©:) sl %1 2)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

SECTION- B/@US - @

(15x6=90)

7% : (2.15) continued (STTH)

-37-



M-2019/GS-IV/38 E
SECTION- B/@UE - & i
v ;2. Frferfaa 3 @ fanedi 15 w9l o I iferraw 150 weet 3 fofau) wedres w99 6 (B:) i #1 2) (15x6=90)
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
9 /M=06
9: (2.16) 3AfEET 1 F1 U @ 7 |
What is the importance of non-violence ?
AT

-38-

T v




e V30 SECTION - B/ @UE — [=] «'-?'

we : 2. Feafofee § 3 e 15 i & 3w sifirsam 150 wsai 3 feifiau) weires w9 6 (B:) o7 &1 2) (15x6=90)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

W% : (2.16) continued (1)

-39-

LT Ak plads oo gl gen Lo ol o ol dm o A oadihpambsmar. 000 oSt | oo ki e TR B i e .



M-2019/GS-1V/040 I
SECTION - B/ @UE - & E w'-‘l!"
ww : 2. Prfefiaa 1 @ fRdi 15 wwi & 3w aiftreran 150 wsai 7 fofau) ol w97 6 (B:) o7 #1 2) (15x6=90) ‘
Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.
{ : 3 iMm=08
T99: (2.17) F9R & gk § wfdfoa doat 1 avig i |
Describe the elements involved in the process of communication.
3Jdal: AT

l
i
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M-2019/GS-1V/041

SECTION- B/@UE — &
W : 2, Faforfaa 1§ @ i 15 w1 & 3w sifusam 150 wdi 3 ferfiau) weires w91 6 (@) a7kl &1 21

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

(15x6=90)

W9 : (2.17) continued (ST1)

-41-



M-2019/GS-IV/042 [=]
SECTION- B/®@US - &

v : 2. Faffes @ @ i 15 wwAi % 3 sifirraw 150 =2l fofigu) uedes woa 6 (B:) sl 1 R) (15x6=90)

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

T (2.18) T FGER Hed AfFd i sifigfy i wfafefa wwa @ 7 vk wwifies sew 39 gu smen i |

Is behaviour always a reflection of one's attitude ? Explain with a relevant examples.

3l ; |

-42-

9M=06

i SRl Sl o




M-2019/GS-1V/043

uv : 2. Fraferfaa 3 & feredi 15 wl % 3w srfirsam 150 wsei  forfiau) wedes wom 6 (@) o7 71 21

Que.: 2. Write the answers of any 15 of the following questions in maximum 150 words. Each question carries 6 (six) marks.

SECTION - B/@US - &

(=] =]
[=

(15x6=90)

994 : (2.18) continued (STHT)
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[=]i[w]

AT T A (3) TUT(4) TR ST T HATETNG €| W1 UL 37561 1 Teaon Hst: 999 %1 (3) + (4) = 31 (30 + 35) = 65 |
W U ¥ i fawe 2 | sreeff fom stiafes fases o1 3w 2 @ 2, 399 T Joei@ 3 & IR § SAarda: # | (03x10=30)

Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the intemal option of the candidates is to be
made explicitly before the answer.

SECTION- C/@Us - ¥® E E gﬁ?

T 3.

TH: (3.1)

TH: (3.2)

Te: (3.3)

uTgasy | Ao fawa—awg w smanfa gt : Fa wd1

Ue TR AR % e # FHd1, SHHER] 3R FdcaulrEvdT & Y 7 S1fteer w1 ggfud Fee
T 1 &1, G R Fa1 91d oft 7, a7 it 7o ) T 39 ARl % arg-any 39 &
3 ARG ST B | fo Ty SIaer weeh! g@ 31 @ | QTS TeuTd Fi Seral § | {9y sHewr sEEr o
T iRt & foken < aeha 2 | TS Wb Ueh safe et H et 319 SIaRR & shded S S1feRr 3 i wsm
Tl 8, 3 TE 29 % UfY oft 3uer SHarn ey 3R tfimr i wiaaT & wifed @ =i | 39 e
AT 2 o 71 1 9% 9 IS UHT W L ST A E E R 3 S oW fed A A8 | 39 % g 3 gufa
1 18T T AT 1 W A © |

Case studies based on the contents of syllabus : Case Study-1

In the behavior of a government official, with humility, honesty and devotion to duty, with the ability to
properly discharge his authority, cooperation and service sense, the richness of these characteristics
makes him an officer as well as a superior citizen of the country. Polite behavior brings happiness to all.
Enhances social harmony. Elimination of ego is the path for polite behavior. Just as a person stays aware
of duty and authority by his behavior while living in society, similarly his behavior towards the country
should be felt with a sense of duty and authority. It is his duty to neither do such a thing himself nor allow
others to do something which is not in the interest of the country. Protecting the honor and property of
the country is the ultimate responsibility of a government official.

UG YT o IREd § J o IR QI
Teeh Y9 1 JTeehad 150 ITse] § I 11U | Tedeh U9 10 (S9) 37 H1 2 |

Answer the following questions in the light of above mentioned case study :
Answer the each question in 150 words. Each question carries 10 (ten) marks.

e =1 fa saer 4 dah e savs iR geerf g e 7

How is polite behaviour necessary and comfortable for everyone ?

form sqaer & foru =0 sawas 2 7

What is needed to behave courteously ?

391 37 TS o Ui Uk T it o1 saae 3R sdsd S g =Ry ?
What should be the behaviour and duty of a government official towards the country and society ?

HUAT/OR

03x10=30
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What should be done to protect the environment ?
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SECTION- C/@UE - ¥ A
A T FHE (3) AU (8) THT HATA WA | G G 371 1 T FHI: 9 FHF (3) + (8) = 3 (30 + 35) = 65 |
70 WA B A fawen B | sl fom svrafir faey o1 390 2 @ 2, S0e v Iocng I % wRW § sifEra: & | (03x10=30)
Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the internal option of the candidates is to be
made explicitly before the answer.
03x10=30
U9 3. UTgAsHH § Hiwfe fawa—awg W snutia weon ; | w2
{STE2H et THITHUEH % 31696 3 ST9ah! raifad T § o101 i1 8§ arg-yguor = et o e
HF F0d g0 foran 2 | A o J&3 gR TSI FE1-5- 41 € 36eh1 119 8 38 -9 & arel ar o [T
€1 Ect @ YIet § gy e & arg-ygyvr § 3 @ 9iE € @ R | wnaEi ) fmfa @ <
o e aren gt ardraw i fawrEd s @ R | gew W are! 6 Sed G ag-yegu H e
g1 TEl & | W1 A TR FESl o AT @ I B R € | W e W) Saed a1 - 98N & fore
IREr R | ieh Glorenati % forr & fore e =1 wem 91 2, S ag-weuu 3 e F9 F Se
IO ST | AT T Har A % w9 F gail o TRevl o 3T i =ien | wier | guen o fon
e | Ao g& T SIS © | FieA ataEl & gel-ue Fraro ) R i off sravas sead
F! =R |
Case studies based on the contents of syllabus : Case Study-2
The President of the Resident's Welfare Association has written to you in his letter, drawing attention to
the situation of ‘air pollution’ in his colony. People living nearby are disturbed by the smell of the garbage
house built on the main entrance of the colony. Already, indiscriminate industrialization in the city is
leading to rapid increase in air pollution. Twenty-four hours of smoke coming from factories’ chimneys
are making the environment toxic. The increasing number of vehicles on the roads is increasing air
pollution. People are suffering from respiratory and lung diseases. Also, the increasing population on the
city is responsible for air pollution. Because tree pruning continues to expand facilities which will cause
air pollution to increase qualitatively. You should find ways to conserve trees as a competent officer. To
protect the environment plantation of more and more trees are necessary. Necessary action should also
be taken in the direction of disposal of ‘garbage house’ of the colonies.
I0ged YT o TREET H 1 o S I
e Y 1 SAEeRad 150 Ysal § 3o ST | Ielies W9 10 (39) HF H 2 |
Answer the following questions in the light of above mentioned case study :
Answer the each question in 150 words. Each question carries 10 (ten) marks.
T (3.1) HEHT H -GVl % YHE HE0 -4 & 7
What are the main causes of air pollution in Metros ?
TH: (3.2) Fd g3 SHEE 31 TATER0 W T WNE UEdl @ 7 v i |
What is the impact of increasing population on the environment ? Explain.
¥: (3.3) Gt i 1en & o = e =nfeu 7
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AE 1 WY AT (3) TYT (4) TV LI T TG & | W1 X 3okt o1 fefaivr SHHeT: I3 SHI (3) + (4) = 37 (30 + 35) = 65 |

T4 WA § it fasen 2 | sreredi fmg stiafi fasen &1 3w 2 @ £, 30 O Seeia I % yRe § srferda: #+
Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =

Marks (30 + 35) = 65. There is an internal option in this question. The answer to the intemal option of the candidates is to be
made explicitly before the answer.

I M=10

I : (3.1)

I :
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SECTION- C/@UE - 9§
AE: W FHIE (3) T (4) VT AU YT AT € T G SR T A0 591 9 FHF (3) + (8) = 3 (30 + 35) = 65 |
, T W § i faekey @ | s fom st faees 1 3w 2 1@ §, 39 v Jeetd I & unw # sifarda: w5

Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the internal option of the candidates is to be
made explicitly before the answer.

W : (3.1) continued (STHT)

T gy
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A T S (3) TAT(4) TH ST UL S & | T G 3R] HT 0 I T FAI (3) + (4) = 37F (30 + 35) = 65 |

70 YA § ST fawen 2 | sradfi o st fases 1 3w 2 @ €, Sue vre Seeia It % W A stfea: |
Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =

Marks (30 + 35) = 65. There is an internal option in this question. The answer to the internal option of the candidates is to be

made explicitly before the answer.

IM=10
T¥: (3.2) 1

3l :
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M-2019/GS-1V/49 SECTION - C/W@UE - |

T : U FHHIF (3) TAT(4) T SFSH T AT | T TSR] F1 000 091 9 FHE (3) + (4) = 37F (30 + 35) = 65 |
T Y H Al foeed # 1 srefl o sniafts ey %1 3w @ @ #, 399 ¥ e I % IR ° stfard: 5 |

Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the intemal option of the candidates is to be
made explicitly before the answer.

T : (3.2) continued (ST)
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qe: U HHIE (3) AT (4) T FASRA UL TG & | T T SR o fEern shHen: W %k (3) + (4) = 3 (30 + 35) = 65 |
79 9§ syt fasen 2 | sveeff fom srafter fasen @1 3wt 3 @ #, 30 v Soorg I % WRW # stfarda: # |

Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the internal option of the candidates is to be
made explicitly before the answer.

¥ (3.3)

31 :

I g N P T M Y U I . R I R e Rl | - R . sl
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FAE: T FHF (3) TUT(4) FHT ST T ST | T T SR 1 o w91 99 90 (3) + (8) = 37 (30 + 35) = 65 |
¥ T | st fae B | onefi o sriafies faew #1 3w 2 @ ¥, 399 v Seorg 3w F W § sifErda: &t |

Note : Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively Question No. (3) + (4) =
Marks (30 + 35) = 65. There is an internal option in this question. The answer to the internal option of the candidates is to be
made explicitly before the answer.

9 : (3.3) continued (ITH)
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WY ST (3) AT (4) TV AT T SATENTE # | 9 W Sih 1 faen e w FEie (3) + (4) = 33 (30 + 35) = 65 |
Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

SECTION-C/@UE — 9 EH

[=] 34 [=]

TH: 4. UTgasmd ® wfrfera fava-awg w snenfa v : e =i

21 of wdt i fava srefezaeen J aurfid ® | HER ase freh dares viFd ? | safon v saofd
1 GeATeHS AT T 8 uftfad 2 9% 2, 3 36 @@ 9 5 uftaes o it i, @i, agant
3 TS | guiifed @ | fefaa stdfeaeen & fou gdeamderar i saaw &1 Hejed a1 71 S9 areEi
# g -gavar 3 guRiaad Tavas € | ga1 S stiwei, guan aus, g, uiEdd, AeE-1eE,
HeA 31fe o el FreaTe ¥ I % SIIErT @ Hefod € | T8 FS ST T JOTTe! 1 SATEN
S HiS[E1 59a | forsa 31 AT 1 i 3 59 el ® | derawen & 9 enenie o | sgr @
2, Trul Afvas srdieraten asfl § JM srderacer § ufafdd 8 @i 2 | safee st frem -, #ea e
Toramarety aftenfies srderaTen 1 9aTd 9, 3 3" $W @1 A4 | T4 fava syawen Fi 3= Ju gES H

HAETIHAT & |

Case studies based on the contents of syllabus : Case Study-3

The 21 century world economy is knowledge-based economy. Information technology is a driven force
therefore, it is necessary to be familiar with the informational infrastructure of manpower just like the
transport system, cars, rail, roads and highways. For developed economy, easy accessibility is a strong
mode of communication and access and familiarity of communication tools is necessary. Information
technology data, information related to applications of computers for the performance of collection, security,
change, exchange, study etc. It is the basis of a computer-based information system that is currently
an integral part of commerce and business that has currently being made. The economy is moving in
a knowledge-based direction, the global economy is increasingly changing into ‘knowledge economy’.
Hence the rules, laws and activities of the industrial economy which used to run, will no longer work. The

new world order now requires new standards.
Ioded Wl o afttes § Frafafiad welres woa w1 3 stfrekam 100 vsei 1 ifS | weles W
07 (A1) 3kl H1 2 |

Answer the following questions in the light of above mentioned case study in maximum 100 words

each. Each question carries 7 (seven) marks.

(05%07=35)

05x07=35
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A : T I (3) T (4) TR ST T ST B FH G SHI 1 w0 F9: U T (3) + (4) = 3F (30 + 35) = 65 |
Note: Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

T (4.1) 39YFA FI9I-T5] % YT 3299 i T FHIfSC | oy

Explain the main purpose of the above content.

——

e 4
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SECTION-C/@UE - |

AZ: T I (3) AT (4) WA HATH TSI F 1 W W STH H1 G 9 5 T (3) + (4) = 3 (30 + 35) =65 |
Note: Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

TY: (4.2) HIT A1 o Hecd i T IS | o7

Explain the importance of information technology.

g —
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SECTION-C/@Us - |
T AT (3) T (4) TRV ST T ST B 1 WAl T 7T 1 e et 9 HHE (3) + (4) = 3 (30 + 35) = 65 |

(=] [s]

Note :  Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

U9 (4.3) TET GeATIehdl S F1 YA 2 7 T8 I |

What is the meaning of ubiquity ? Explain.

qM=07
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SECTION-C/@UE - ¥§
qE: T EHHE (3) AGT (8) W] AT T AT 8| W T 3T H e e 5 FAF (3) + (4) = 3 (30 +35) =65 |
Note: Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

UH: (4.4) 3TTS T ST o1 ST © ¢ THSET | o7

Which kind of manpower is essential today ? Explain.
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Note :  Question No. (3) and (4) are based on case studies. Distribution of marks on questions respectively. Question No. (3) + (4) = Marks (30 + 35) = 65.

TH: (4.5) 21 3 @t H et wER yonedt 1 I T ® 7 quened | Yy

Which kind of knowledge of communication system is essential in the 21% Century ? Explain.

LSl e, o aca i e i
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